	1. 
	Which of the following storage media does not allow random access of data?
A. RAM

B. ROM

C. CD-ROM

D. tape

E. hard disk                                      (1997 MC No.1)


	2. 
	Computers on a local area network can be connected in the form of a 

  (1) bus network

  (2) ring network

  (3) star network
A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                                  (1997 MC No.2)



	3. 
	The integer -32 is the smallest integer that can be represented in a 

A. 4-bit two’s complement representation.

B. 6-bit two’s complement representation.

C. 7-bit two’s complement representation.

D. 8-bit two’s complement representation.

E. 16-bit two’s complement representation.              (1997 MC No.3)



	4. 
	In an encryption scheme, each character is changed to a new character such that
ASCII of the new character = (the ASCII of the original character – 30) X 2

After encryption, the word ‘AXE’ will become

A. FtN

B. dLz

C. ABJ

D. cTK

E. VWa                                          (1997 MC No.7)



	5. 
	Mr Lee has a microcomputer at home which contains a lot of computer games. To prevent his daughter from using the computer and spending too much time on computer games, Mr Lee can make use of a 

A. keyword.

B. key field.

C. check digit.

D. parity bit.

E. password.                                     (1997 MC No. 9)



	6. 
	Which of the following input devices is most suitable for blind people to use?

A. a mouse

B. a joystick

C. a voice input device

D. a device for reading hand-written input

E. a touch screen                                 (1997 MC No.10)



	7. 
	Which of the following controls the allocation and usage of hardware resources?

A. a debugger

B. a disk drive

C. arithmetic and logic unit

D. read only memory

E. an operating system                             (1997 MC No.13)



	8. 
	Which of the following is not a peripheral device?

A. keyboard

B. visual display unit

C. modem

D. random access memory (RAM)

E. disk drive                                     (1997 MC No.14)



	9. 
	Which of the following is/are reason(s) for connecting computers to form a network?

  (1) to share devices

  (2) to allow users to communicate with each other

  (3) to allow users to transfer data to and from each other

A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                                 (1997 MC No.16)



	10. 
	The maximum address (in binary) that can be held in 16 bits is 



	11. 
	A. 
	1111
	1111
	1111
	1111
	

	12. 
	B. 
	0000
	0000
	0000
	0001
	

	13. 
	C. 
	1111
	1111
	1111
	1110
	

	14. 
	D. 
	0111
	1111
	1111
	1111
	

	15. 
	E. 
	1000
	0000
	0000
	0000
	(1997 MC No.23)

	16. 
	

	17. 
	AGE is a field of a database file STUDENT. AGE stores the students’ ages. AGE cannot be used as a key field of STUDENT because

A. AGE has to be updated every year.

B. AGE is a numeric field.

C. AGE can be replaced by date of birth.

D. different students may be of the same age.

E. Students with the same name may be of different ages. (1997 MC No.24)



	18. 
	If X=4, what is the output of the following algorithm?

Assign zero to S

While S is less than X, do the following:

Calculate Y = S + X/2 +1

Assign the value of Y to S

Output S

A. 2

B. 3

C. 4

D. 5

E. 6                                           ( 1997 MC No.27)



	19. 
	Which of the following computer applications must involve the use of personal data?

A. a computer assisted learning program

B. a payroll system

C. a computer game

D. a computer simulation

E. an electronic bulletin board                       (1997 MC No.29)



	20. 
	In a certain computer, integers are represented in 4-bit two’s complement form. overflow error will occur in the calculation of A + B if

A. A = 0110 and B = 1100

B. A = 1110 and B = 0101

C. A = 0011 and B = 0110

D. A = 0001 and B = 1111

E. A = 0001 and B = 0011                            (1997 MC No.30)



	21. 
	Below are different stages in a data processing cycle:
1  input of data

2  processing of data

3  collection of data

4  collection of data

5  output of information

Which of the following gives the correct order of stages?

A. 3(1(4(2(5

B. 3(1(2(5(4

C. 4(1(2(3(5

D. 4(3(1(2(5

E. 4(1(2(5(3                                  (1997 MC No.32)



	22. 
	Suppose the format DDMMYY is used to represent dates (i.e. a date is represented by a string of six digits in which the leftmost two digits give the day, the middle two give the month and the rightmost two give the year).

Which of the following is an invalid date?

A. 070696

B. 210809

C. 300330

D. 022188

E. 110986                                       (1997 MC No.35)



	23. 
	program Q36;

begin

  writeln(ord(‘B’))

end.     
A. 42

B. 64

C. 66

D. 68

E. 98                                              (1997 MC No.36)


	24. 
	program Q37;

begin

  writeln(trunk(2.581*10+1))

end.
A. 21

B. 25

C. 26

D. 26.81

E. 27                                              (1997 MC No.37)



	25. 
	program Q38;

var A, B:integer;

begin

 A:=14;

B:=7;

If A<B

  then writeln(A, ’<’, B)

 else writeln(B, ‘<’, A)
end.
A. 7<14

B. 14<7

C. A<B

D. B<A

E. B<14                                            (1997 MC No.38)



	26. 
	program Q39;

var k:integer;

   a: array[1..20] of integer;

begin

  for k:=1 to 20 do a[k] :=k*2+1;

  for k:=2 to 20 do a[k] :=a[k-1]+a[k];

  writeln(a[5])

end.
A. 11

B. 13

C. 20

D. 24

E. 35                                              (1997 MC No.39)



	27. 
	program Q40;

var  k:integer;

a:integer;

begin

  k:=99;

  a:=2;

  repeat

    a := a+4

  until a>k;

  writeln(a)

end.
A. 99

B. 100

C. 101

D. 102

E. 103                                             (1997 MC No.40)



	28. 
	program Q41;

var A, B:string;

begin

  A:=’ABCDEFGH’;

  B:=’ABC’;

  while length(B)<=length(A) do

    begin

      A:=A+‘M’;

      B:=B+’MM’

    end;

  writeln(A)

end.
A. ABCDEFGHMM

B. ABCDEFGHMMM

C. ABCDEFGHMMMM

D. ABCDEFGHMMMMM

E. ABCDEFGHMMMMMM                              (1997 MC No.41)



	29. 
	program Q43;

var A, B:integer;

procedure SWAP(C, D:integer);

var T:integer;

begin

  T:=D;

  D:=C;

  C:=T

end;
begin

  A:=1;

  B:=2;

  writeln(A, ‘  ‘,B);

  SWAP(A,B);

  writeln(A, ‘  ‘,B)

end.
A. 1  2

2  1

B. 1  2

1  2

C. 2  1

2  2 

D. 1  1

1  1

E. 1  1

2  2                                            (1997 MC No.43)


	30. 
	program Q45;

var h, k, s :integer;

begin

  s:=0;

  for h:=1 to 3 do

    for k:=3 downto 1 do

      s:= s+h+k;

  writeln(s)

end.
A. 24

B. 30

C. 33

D. 36

E. 39                                              (1997 MC No.45)



	31. 
	If a human being is viewed as a computer, the human brain will be…
A. the disk drive

B. a mouse

C. a scanner

D. the visual display unit

E. the central processing unit.                           (1998 MC No,1)



	32. 
	How many kilobytes (KB) are there in two megabytes (MB)?

A. 200

B. 512

C. 1024

D. 2048

E. 4096                                             (1998 MC No.2)



	33. 
	What is the least number of bits required for representing a character set of 30 characters?

A. 3

B. 4

C. 5

D. 6

E. 7                                                (1998 MC No.3)



	34. 
	Which of the following binary numbers has its two’s complement equal to itself?



	35. 
	A. 
	11110000
	

	36. 
	B. 
	10000000
	

	37. 
	C. 
	00000001
	

	38. 
	D. 
	10000001
	

	39. 
	E. 
	11111111
	(1998 MC No.5)

	40. 
	

	41. 
	Which of the following networks is a star network?

                                         

   A.


  C.

  E.

(1998 MC No.13)



	42. 
	What is the main disadvantage of using a CD ROM for storage?

A. The user cannot update its contents.

B. It is a volatile memory.

C. It has a low data transfer rate.

D. Its rotational speed is unstable.

E. It can only store graphical images.                     (1998 MC No.4)



	43. 
	A computer terminal requires each user to key in a user-name and a correct password before logging on. the purpose of this is……
(1)   to prevent unauthorized persons from using the computer.

(2)   to identify the user.

(3)   to check the possibility of virus infection.

A. (1) only

B. (2) only

C. (1) and (2) only

D. (1) and (3) only

E. (1), (2) and (3)                                     (1998 MC No.14)



	44. 
	As a validation check for a five-digit number ‘ABCDE’, a digit F is added at the end of the number such that

        A+B+C+D+E+F is an integer divisible by 10.

The above validation check is unable to detect the error when 30201(4) is wrongly entered as ……
A. 30201(3)

B. 40201(4)

C. 30200(4)

D. 03201(4)

E. 30211(4)                                         (1998 MC No.19)



	45. 
	Which of the following statements does not apply to direct access files?

A. Records can be accessed sequentially.

B. File will be very efficient if only a small number of records need to be changed.

C. Files can be stored on a magnetic tape.

D. Retrieval of records is fast.

E. they are often used for large database application.       (1998 MC No.21)



	46. 
	Which of the following fields of student records can be used to identify a particular student?

A. date of birth

B. student name

C. telephone number

D. student number

E. any one of above                                  (1998 MC No. 22)



	47. 
	‘Data are stored for a period of time before they are process altogether in a separate operation.’ This sentence describes……
A. real-time processing.

B. Batch processing.

C. On-line processing.

D. Interactive processing.

E. On-line non-interactive processing.                   (1998 MC No.24)



	48. 
	Mr A sends some important data to Mr B by electronic mail. In order to prevent other people from reading the data, the data should be ___ before being sent.

A. verified

B. compressed

C. encrypted

D. validated

E. digitized                                         (1998 MC No.26)



	49. 
	Which of the following persons does not have a right to privacy?

A. a prisoner

B. a child under 12 years old

C. a patient living in a hospital

D. a pop singer

E. All of the above persons have a right to privacy.         (1998 MC No.27)



	50. 
	Which of the following does not normally require the use of a CD ROM drive and a sound card?

A. Running interactive presentation software

B. Running educational software for kids

C. Pascal programming

D. Playing computer games

E. Playing VCDs (video compact disks)                    (1998 MC No.30)



	51. 
	In a local area network where one printer serves several computers, the printing jobs of the printer will most likely be executed……
A. simultaneously.

B. On a time-sharing basis.

C. On a random basis.

D. On the first-come-first-serve basis.

E. On the last-in-first-out basis.                        (1998 MC No.31)

 

	52. 
	program Q36;

begin

  writeln(trunk(squt(17)))

end.

A. 3

B. 4

C. 5

D. 6

E. 7                                            (1998 MC No.36)


	53. 
	program Q37;

begin

  writeln(chr(66))

end.

A. H

B. E

C. C

D. A

E. B                                            (1998 MC No.37)



	54. 
	program Q38;

begin

 writeln(123.4567:2:2)

end.

A. 123.5

B. 123.4

C. 123.46

D. 123.47

E. 123.44                                       (1998 MC No.38)

program Q39;

var k:integer;

  a:array[1..10] of integer;

begin

  for k:=1 to 10 do a[k]:=20 mod k;

  for k:=1 to 9 do

    if a[k]> a[k+1] then writeln( a[k] )

end.

A. 2

6

4

2

B. 1

3

4

5

C. 2

4

3

1

D. 1  2  4  8 

E. 1

2  4

5                                            (1998 MC No.39)

14. program Q40;

   var a:integer;

   begin

     a:=2;

     repeat

       a:=a*2

     until a > 1000;

     writeln(a)

   end.

A. 136

B. 765

C. 982

D. 1130

E. 1024                                         (1998 MC No.40)

program Q41;

var k:integer;

  x:string;

begin

  x:=’ABCDEFG’;

  k:=length(x);

  while k> length(x)-3 do

  begin

    write(copy(x, k, 1));

    k:=k-1

  end

end.

A. AFB

B. GFE

C. GHC

D. BJE

E. FGH                                          (1998 MC No.41)

program Q42;

var x:integer;

begin

  x:=100;

  if x>100 then

      write(‘A’)

  else

      if x>75 then

        write(‘B’)

      else

        write(‘C’)

end.

A. A

B. B

C. C

D. D

E. E                                            (1998 MC No.42)

program Q43;

var x:integer;

begin
x:=73;

case x div 10 of

9, 10: writeln(‘H’);

7, 8 : writeln(‘K’);

6, 5 : writeln(‘G’);

4, 3 : writeln(‘M’);

0,1,2: writeln(‘P’);

  end

end.

A. H

B. J

C. K

D. M

E. F                                            (1998 MC No.43)



	55. 
	

	56. 
	

	57. 
	

	58. 
	


D.





B.








